Series AM

Air Cylinder/Double Acting
Non—lube - Air-hydro Type(mm) : @40, @50, @63, @80, @100

@ BUILT-IN AIR CUSHION
® DESIGNED FOR LONG LIFE & HIGH SPEED
® AVAILABLE IN WIDE STROKE &

BORE SIZES

Symbol

Double acting

==

How To Order

90 @ B

[1] Air Cylinder Stroke/(mm)  When knuckles are ordered, m
Standard Bore Size : standard stroke | = Single knuckle attached
(Built-in magnet) 40 : 25,50, 75, 100, 125, 150, Y : Double knuckle attached
176, 200, 250, 300, 350, . . Model Type | Action| Seal
Mounting 400, 450, 500 Spec!al Option AVON | Non-lubs Special
B : Standard 50 : 25, 50, 75, 100, 125, 150, Blank : Standard type Double
L : Foot 175, 200, 250, 300, 350, XC16 : Copper-free AMCH | Air-hydro Special
F : Front flange 400, 450, 500, 600 .
G : Rear flange 63 : 25,50, 75, 100, 125, 150, | [9] Auto Switch
C : Single clevis 175, 200, 250, 300, 350, Blank : None
D : Double clevis 400, 450, 500, 600 W3 : Reed switch type,
T : Center trunnion 80 : 25,50, 75, 100, 125, 150, W3(AC100,200V,DC 24V)
175, 200, 250, 300, 350, Standard Auto Switch lead wire
Type 400, 450, 500, 600, 700 | length is 0.5m.
N : Non-lube 100 : 25, 50, 75, 100, 125, 150,
H : Air-hydro 175, 200, 250, 300, 350,
F : Iron tube 400, 450, 500, 600, 700 # Please suffix L at the end for
(W/O Magnet) lead wire of 3m(Option)
6] Rod Boot (Example) W3 - W3L
[4] Bore Size(mm) Blank : None
40 : ¢40 J : Nylon tarpaulin Nuf:nber of Auto
50 : ¢50 K : Neoprene cloth Switches
63 : $63 Blank : 2 pcs
80 : $80 Cushion S lpc
100 : $100 Blank : Both end N :Npcs
N : None
H : Head end
R : Rod end

186




Series AM
Parts No. Of Mounting Bracket ACP

Bore size 440 $ 50 463 $ 80 $100 APM
% Foot TCA2L40 | TCA2L50 | TCA2L63 | TCA2L80 | TCA2L100 —m
Flange TCA2F40 | TCA2F50 | TCA2F63 | TCA2F80 | TCA2F100 | AS
Single clevis TCA2C40 | TCA2C50 | TCA2C63 | TCA2C80 | TCA2C100
Double clevis TCA2D40 | TCA2D50 | TCA2D83 | TCA2DS0 | TCA2D100 | AX
AM2
Type Non-lube Air-hydro r
Fluid Air L.P.Oil ALX
Proof pressure 1.56MPa(213psi) —
Max. operating pressure 1.0MPa(140psi) ﬁBQ
Min. operating pressure 0.05MPa(7psi) ‘ 0.1MPa(14psi) —
Ambient and fluid temperature 5~60°C(41~140°F) AB%
Piston speed 50~500mm/s 0.5~300mm/s u
Cushion Air Cushion Not Available AJ
Stroke tolerance ~250%: '¥* 251~1,000%: '&* |, 1,001~1500% : “* AJM
Basic, Foot, Front flange, Rear
Mounting flange, Single clevis, Double ABK
clevis, Center trunnion —
ACK1
. . NSK
R
Bore size % 40 $50 463 580 | s100 |AG
Basic 0.89 1.37 2.01 3.48 4.87
(0.94) (1.40) (2.04) (3.63) (6.07) NGQ
Foot 1.08 1.58 2.34 4.15 5.86 —
(1.13) | (1.62) | (2.38) | (4.30) | (6.06) |AGX
Bl 1.26 1.81 2.79 4.93 6.79 L
Basic (1.30) (1.86) (2.84) (5.08) (6.99)
Weight 1.12 1.71 2.63 4.59 6.65 NP

Single clevis 1.17) (1.74) (2.67) | (4.74) (6.68)

1.16 1.79 2.79 4.88 7.18 ADR
(1.21) (1.83) (2.83) (5.03) (7.38) ——
1.25 1.85 2.80 5.03 7.15 AMR

(1.35) (1.94) (3.00) (6.32) (7.54)
Additional | Al mounting bracket |  0.22 0.28 0.37 0.52 0.65
weight per| (exepttumionion el | (0.28) | (0.35) (0.43) | (0.70) | (0.87) NDM
27 stroke | Trunnion of iron tube| (0.36) (0.46) (0.65) | (0.86) (1.07)
Single knuckle] 0.23 0.27 0.27 0.60 0.83 ARD

Double clevis

Trunnion

Accessories

Double knuckle(with pin) 0.37 0.43 0.43 0.87 1.27

# |In parentheses are for Iron tube type. NST

Example

AML 40-100(Foot, ¢40, 100" AST

* Basic weight =~ --------++ 1,08kgf

» Additional weight - - 0.22/50*

« Cylinder stroke ---------- 100™ ASTH

1.08+0.22x100/50=1.52kgf
NLCD
NLCS
187

www. TPCpage.com
www. TPCpage.co.kr




Series AM

Accessaries
Mounting ) Front Rear | Single | Double | Center
== Basic Foot ) i }
Description Flange | Flange | Clevis | Clevis |Trunnion
Rod End Nut o o e} e} o ¢}
Standard —
Clevis Pin - - - - - o -
Single Knuckle Joint ¢} o o o o) ¢}
Double Knuckle
Option O @) O O ©] O
Joint(With Pin)
Gaiter ¢} o e} e} o ¢}

Parts No. Of Auto Switch Mounting Band

Switch Model Parts No. Applicable Bore Size(mm)
TBT-04 $ 40
TBT-04 $ 50
W3 TBT-06 $ 63
TBT-08 $ 80
TBT-08 $ 100

Base Material And Surface Treatment

Gaiter/Material

Description Material Note Symbol Material Max.Ambient Temperature
Cover Aluminum Alloy Silver Paint J Nylon Tarpaulin 60T (140°F)
Aluminum Alloy Hard Alumite K Neoprene Cloth %110 (230°F)

Cylinder Tube
Carbon Steel Tube

Inside/Hard Chrome Plated

Outside/Platinum Silver

Seals | Non-lube NBR PDU, NLP, OPA
areal | Air-hydro NBR SCB, SKY, SDA
Piston Rod Carbon Steel Hard Chrome Plated

Piston Aluminum Alloy Chromate

# For gaiter itself

(D When mounting, completely flush the
piping and be careful that dust and
chips do not enter the cylinder.

@ Load of piston rod should always be
aligned parallel with the cylinder axis.

(@ Avoid damaging(scratches, nicks) on the
piston rod, which would lead to
damage of rod seal, resulting in air
leakage.

188

Y Precautions

® (Lubrication)
Use non-additive turbine oil ISO-VG32.
Never use machine oil or spindle oil.

® (L. P. Qi
Use ISO VG-22-46 or equivalent L. P.
oil.
Never use machine oil or spindle oil.

©® Open air exhaust valve and completely
let the inside air out before use.

(D In case you need cushion only on the
air side, you don't have to specify the
above. All you have to do is suffix R or
H, and for others, follow “How to
Order.”




Series AM

Construction ACP
APM
AS
AX
AM2
AL
ALX
AB
ADQ
e
Built-in Magnet A 2
Al
AJM
ABK
ACK1
NSK
AG
Parts List Seals List —
NGQ
NO. Description Material Note o ) Parts. No. —
NO.| Description | Material AGX
© | Rod cover Aluminum alloy Silver paint 40 ‘ 50 ‘ 63 ‘ 80 ‘ 100 GX
® | Head cover Aluminum alloy Silver paint Non-lube Type
® | xCylinder tube Aluminum alloy Hard alumite @ | Cushion seal DSM-20 | DSM-25 | DSM-25 | DSM-30 | DSM-35 NP
O | Piston rod Carbon steel Herd chrome plated ® | Rod seal PDU-16Z | PDU-20Z | PDU-20Z | PDU-25Z | PDU-30Z S—
® | Piston Aluminum alloy Chromate | B TPSA-40A| TPSA-50A |TPSA-63A | TPSA-BOA[TPSA-100A ADR
@ | Cushion ring A Aluminum Chromate NBR P34 P44 P53 P70 P90 —
@ | Cushion ring B Aluminum Chromate @ | Custion Vae sea TCOADA0-1GAT486-PL | TC2A0B3-16A1488-PL AMR
©® | Bush Lead bronze casting - @ | Cyindertube geste! TOHMHG- | TOABI-6-1487 | TOOMRS-I-468 | TCOAB0-16-1489 | TCOAO0-46-1400
@® | Cushion Valve Rolled steel Chromate @ Piston gaskst OMO-1E04-PL | CAB-108c-PL | CES-08c-PL | CABD-1609%-2L | CAID-TBftk-PL NDM
® | Tierod Carbon steel Zinc chromate Air-hydro Type Same as lube type except®,i9 and@®
® | Piston nut Rolled steel Chromate ® | Rod seal SKY=16 | SKY=20 | SKY=20 | SKY=25 | SKY=30 ARD
@ | Spring washer Steel wire Black Zinc chromate ® | Piston seal | NBR | SDA-40 | SDA-50 | SDA-63 | SDA-80 |SDA-100
® | Tie rod nut Rolled steel Black Zinc chromate @ | Scraper SCB-16 | SCB-20 | SCB-20 | SCB-25| SCB-30 NST
® | Wearing Resin - * Magnet (Built—in Magnet) —
@ | xTierod reinforcing ring Cast iron - AST
@ | Spring washer Steel wire Zinc chromate
3 @ Tie rod reinforcing ring - Available only for 1,000 stroke or more. ASTH
% @ In the case of Iron tube cylinder : Carbon steel tube, inside hard chrome
plated. NLCD
NLCS
189

www. TPCpage.com

www. TPCpage.co.kr



Series AM

Non-Lube Type(AMBN), Air-Hydro Type(AMBH)

Width CA 2-Rc(PT)P  CB
; ; across flats [GAl - |GB
With Single Rod Boot VIV, F- L |=
)

_ r [E—

loo

! Jf- Effective length ZKH |_ﬁ~

N
i e LG+Stroke M
LT+ +Stroke___ o LT +Stroke il
(unit:mm)
Bore size | Strok e ,
peste | Sk engen o O 0 gl cA|CB| D[ 6E| F (GAlGB] J | K [M| MM [N | P |LG walw ! TifA] With Rod Boot
(rm) - |Wihoutgaer| With gater| .. | fles H|LT|ge| f |h |1 |LT

$40 |~B00 |20~500 27|14 |30|60|44 | 18|18|16/32|10 15|16 Mex15| 6 |11 |MI4x15|27 [1/4/ 84| b 10561 146|143 11.259 |  |154.
$50 |~600 |20~600{32|18|35|70|52|21|21|20|40|10 |17 |17 |M8x125| 7 |11|M18x15{30 3/8/90| 8 |9.9 |58 |159|52 [11.2/66 167
$63 |~600|20~600{32|18|35|85|64|21|21|20|40|10 |17 |17 [M10x1.25| 7 |14|M18x15 {31 3/8/98| 9 11,558 |170|52 [11.266 178

IQt, k
$80 |~750|20~750|37 |22 |40 |102| 78| 26|26 | 25|52 |14 |21 |21 [M12x1.75|11 [ 17 | M22x15 |37 [1/2(116| 11 |13 |71 |204|65 [12.580 e e%
$100|~750|20~750|37|26|40|116/92| 28|28 |30|52 |14 |21 |2

M12x1.76/ 11 | 17 | M26x15 |40 [1/2/126/ 13|14 |72 |215|65 | 14|81 ﬁ
Foot Type/(L)

Non-Lube Type(AMLN), Air-Hydro type(AMLH)

—_

—

The rod reinforcing
ring/available for 40 ~

trok
Effective length of thread H LA il

B
A_ KIGA 2-Re(PT)P |GB
With Single Rod Boot % ]

MM__;'-_

g [ E Width acro:
=
8 l Y LG+ Stroke X LY LK

h+ LS +Stroke 0isc
LT+ { +Stroke LT +Stroke SB

D
|

$e

- | =
=
@

- ]%"'

o

RSN | RN

(unit:mm)

Boresize|  Stroke range(mm) Efectie gt
(mm) | Without Rod Boof| With Rod Boof of e

$40 | ~500 20~500 | 27 |30|60|44|18|18|16|32 |10 (15 |15 | M8x125 | 6 | M14x15 |27|1/4| 84| 5 |10.5
$50 | ~600 20~600 | 32 |35|70|52|21|21|20 140 |10 |17 |17 | M8x126 | 7 | M18x15 |30(3/8/ 90| 8 9.9
$63 | ~600 20~600 | 32 [35/85|64/21/21|20 40 |10 |17 |17 [M10x1.25| 7 | M18x15 |31|3/8/ 98| 9 [11.5
$80 | ~750 20~750 | 37 |40|102/78 2626|2552 |14 |21 |21 |M12x1.75| 11 | M22x15 | 37[1/2(116] 11 | 13
$100| ~750 20~750 | 37 |40|116/92 28|28 |30 52 | 14|21 |21 |[M12x175| 11 | M26x15 | 40|1/2/126| 13 | 14

Long Stroke Type

[ISB[ISC|CA|CB|$ D|$E | F |GA |GB J K MM N | P | LG WAIWB

Bore size w |y lsolim s Tia lie | WioutRo Boot With Rod Boot Bore size | Stroke renge | -~ | —
(mm) H |LT|g¢e| f | h l LT (mm) (mm)

$40 |27 | 1319.0|40 [138(3.2 |42 | 70 |51 |175| 43 [11.2] 59 183 $40 501~800 - -
$50 |27 | 13 ]9.0|45 /144 (3.2 |50 |80 |58 |188| 52 [11.2/ 66 196 $50 | 601~1200 | 30 | 76
$63 |34 |16 11.5 50 [166|3.2| 59 | 93 |58 [206| 52 11.2]66 | 4 |214 $63 | 601~1200 | 40 | 92
$80 |44 | 16 [13.5/65 [204 |45 |76 [116] 71 |247| 65 [12.5| 80 | Stroke E 480 | 751~1400 | 45 | 112
$100 |43 | 17 [13.5/75 212 6.0|92 [133| 72 |258| 65 14.0| 81 267 $100 | 751~1500 | 50 | 136

190




Series AM

Front Flange/(F) ACP
Non-Lube Type(AMFN), Air-Hydro Type(AMFH) APM
Width CA  2-Rc(PT)P (B WB WA  4-J —
With Single Rod Boot  across flats G / EBFD
_MM\ if /_ AS
3 ,g b .‘2—]\._ S | | oF i AX
L —— 4 | —
Effective length li ;DSC.J AM2
8l| 1 of thread N N [||=CsB —
h+1 H LE tr%trgke [ IEI\K/I
LIt LStcke (unit:mm) AM
Borese | Suoke renge(mm) |64 » | g |58/ (150CA (CB |#D| $E|GA|GB| J | K |M| MM |N|P|Lc|walws | [AL.
(rmm) Without Rod Boot| With Rod Boot|  of tvead ALX
$40 | ~800 | 20~800 | 27 |30 |71|60| 44|18 |18 |16 |32 |15 | 15 | M8x1.25 11 |M14x15| 27 [1/4| 84| 5 |10.5 A—
$50 | ~1,000|20~1,000f 32 |35 (81| 70| 5221 (21 |20 |40 |17 | 17 | M8x1.25 11 [M18x15| 30 |3/8| 90 9.9 ABQ
$63 | ~1,000|20~1,0000 32 |35|101| 85| 6421 |21 |20 |40 |17 | 17 [M10x1.25 7 | 14 | M18x15|31|3/8/ 98| 9 |11.5 A
$80 | ~1,000|20~1,0000 37 |40 [119/102| 78|26 26 |25 |52 |21 | 21 M12x1.75( 11 | 17 | M22x15| 37 | 1/2|116| 11 | 13 AB%Z
$100 | ~1,000 | 20~1,000 37 |40 |133|116| 92|28 |28 |30 |52 |21 | 21 [M12x1.75| 11 | 17 |M26x15| 40 |1/2|126| 13 | 14 AJ
i irovii AJM
) ) . * Hole diameter of Rod Boot to mount Air-cylinder
Bore sie FH | $FD|FT | EK | EL | FM Vitou Fod ot Ui P Braet should be larger than the outside diameter of —
(mm) H | LT |%¢d 8e| f | h l LT gaiter mounting bracket ¢ d. ABK
$40 | 60|9.0/12 | 80| 42|100| 51 |146| 52| 43| 15 | B9 1164 —
#50 | 70]9.0|12 | 90|60 110 68169 58 62| 15| 66| 167 ACK1
$63 | 86|11.5 15 |105/ 59 |130| 58 |170| 58| 52 [17.5 66 178 ————
Stroke ——
$80 [102|13.5/ 18 |130| 76 |160| 71 |204| 80 | 65 [21.5/ 80 1213 NSK
$100|116/13.5 18 |150| 92 |180| 72 |215| 80 | 65 |21.5| 81 224 —
AG
NGQ
Width 2-Rec(PT)P A
aclross flats é%X
o gj mepe 71 LI B0 . N— (R NP
= ADR
! Effective length ALK N Nl
h+! of thread H LG +Stroke —
LT+ [ +Stroke | T+Stroke AMR
(unit:mm) —
Rras .
este | Strokerange |Effective length) \ | g g sclgp|sE lGalaB| K M| MM | N | P |LG lwAlwB NDM
(mm) (mm) of thread I
$50 | 1,001~1,200 32 35 (88 |70 |52 |20 |40 |17 |17 [M8x125|7 | 6 |M18x15|30|3/8/90 | 8 9.9 ARD
$63 | 1,001~1,200 32 35 [105|85 |64 |20 (40 |17 |17 [M10x1.25| 7 |10 |[M18x15|31|3/8/98| 9 (115 e —
$80 | 1,001~1,400 37 40 124102178 |25 |52 |21 |21 M12x1.75 |11 | 12 |M22x15| 37 [1/2{116| 11 | 13 NST
$100 | 1,001~1,500 37 40 140116192 |30 [52 |21 |21 M12x1.75 |11 | 12 [M26x15 |40 [1/2|126| 13 | 14 —
; ) 0 * Hole diameter of rod boot to mount Air- AST
Bore size $fD| ET | FK | FL |IEM| RS | RZ WitoutFod Boo With Rod Boot cylinder should be larger than the outside S
(mm) H | LT [%del f h I LT diameter of rod boot mounting bracket ¢ e.
ASTH
$50 [9.0|20|120| 58 144/ 30| 76 | 67 [163| 62| 19 | 66 162 S—
$63 [11.5 23 |140| 64 [170/ 40|92 | 71 (179|652 |19 | 66 /4 1174 NLCD
$80 [13.5) 28 |164| 84 |198| 45 |112| 87 |215| 65| 21 | 80 | Stroke |208 L
$100 |13.5) 29 |180|100|220| 50 |136| 89 |227| 65 | 21 | 81 219 NLCS
191

www. TPCpage.com
www. TPCpage.co.kr



Series AM

Non-Lube Type(AMGN),

Air-Hydro Type(AMGH) Width CA 2-Rc(PTP (B WB_ WA  4-J
across flats . =— I I -$FD
With Single Rod Boot MM | ]
............ al 9‘E E
_____*_..;E— 4 H i
- co—e
| osB
Rl length LG+Stroke L
CLT+ 1 +stroke of thread, LT +Stroke FM (unit:mm)
— ‘
oresize | Stroke range  Hfective ngf A | B |OsBlOsc|cA |cB |#p|sE| F |calcB J K| MM N e lLe lwalwe
() Wihout Rod Boof With Rod Boot |  of ad
$40 | ~500 [20~500| 27 |30 |71 |60 |44 (18 [18 |16 |32 |10 |15 | 15 |M8x125| 6 |M14x15 |27 |1/4|84 | 5 10.5
$50 | ~600 |20~600| 32 |35 (81|70 |52 |21 |21 |20 |40 |10 |17 | 17 |M8x1.25| 7 |M18x15|30|3/8/90 | 8 [9.9
$63 | ~600 [20~600| 32 |35 (10185 |64 |21 [21 |20 |40 |10 |17 | 17 M10x1.25| 7 |M18x15|31|3/8/98 | 9 [11.56
$80 | ~750 [20~750| 37 |40 |119]|102|78 |26 (26 |25 |52 |14 |21 | 21 M12x1.75| 11 (M22x15 | 37 | 1/2|116| 11 | 13
$100| ~750 |20~750| 37 |40 |133|116]92 |28 |28 |30 |52 |14 |21 | 21 M12x1.75| 11 |M26x15 | 40 |1/2126| 13 | 14
i With Rod Boot
Bore size eu sm0l ET lek | FL IEM Without Rod Boof
(mm) HI[LT|g¢e|f|h| ¢ |LT
$40 |60 |9.0] 12|80 |42 |100|51 |147|43 [11.2| 59 155
$50 |70 |9.0] 12|90 |50 [110|58 |160|52 [11.2| 66 14 168
$63 |86 [11.5 15 |105|59 [130|58 |171|52 [11.2 66 Stroke 179
$80 |10213.5 18130 |76 |160| 71 |205|65 [12.5] 80 214
$100 (116|13.5 18 |150|92 |180| 72 216|656 [14.0| 81 225

Single Clevis/(C)

Non-Lube Type(AMCN),

ir— Width
Air-Hydro Type(AMCH) O flats A 2-Ro(PTP (8
With Single Rod Boot MM A
_ P IS =i | ———
- Effective 7“I N
| | length H LG+ Stroke T
T+Stroke
LT+ +Stroke LT+Stroke
(unit:mm)
foesie|Stroke range M g mscicA OB |4D| $E| F |GA|GB| J | K |L| MM | N |P |LG |WAWB
(mim) | Without Rod Boot | With Rod Boot | of e
$40 | ~500 [20~500| 27 | 30|60 |44 [18 [18 |16 |32 10|15 | 156 |MBx1.25 30 [M14x15|27 [1/4]84 | 5 105
$50 | ~600 [20~600| 32 | 35|70 |52 |21 [21 |20 |40 10[17 |17 |M8x1.25 35 [M18x15/30 [3/8]90 | 8 |9.9
$63 | ~600 [20~600| 32 | 35|85 |64 |21 [21]20[40| 10|17 [17 [M10x125] 7 |40 [M18x15[31[3/8[98 | 9 [11.5
$80 | ~750 |20~750| 37 |40[102|78 |26 |26 |25 |52 | 14 |21 | 21 [M12x1.78 11 | 48 [M22x15 |37 [1/2]116| 11 | 13
$100] ~750 [20~750| 37 |40[116]92 |28 [28 |30 |52 | 14 |21 | 21 [M12x175) 11 | 58 [M26x15] 40 [1/2 |126] 13 | 14
Bore size Without Rod Boot With Rod Boot
RR|W | $CDso CX
(mm) H|T|[LT|ge| f | h l T |LT
440 |10 [16 | 10 “9%®| 15021 |51 (165/175/43 11.2/59 173[183
$50 |12 (19| 12 *%%°| 18014 |58 |183|195|52 f11.2/66 v 191[203
463 |16 (23| 16 9%°| 25071 |58(196[212|62 11.2/66 So 204220
pr 1

480 |20 [28] 20 “0%[ 31501 |71 [235[256(65 12.580 | T - [244]264
$100(25 |36 | 25 *9%%*| 355731 |72 256[281|65 4.0/ 81 265290

192




Series AM

Double Clevis Type/(D) ACP
Non-Lube Type(AMDN) Width cA 2RePTP WA 4
; ' fl o cs w8 APM
Air-Hydro Type(AMDH) T L . 2 —
\ _______________
e — 5 - AS
With Single Rod Boot 2 wfor DR 5
| Ingle no 00 L se
O 1= ; N S |
. X AX
| |If length oEff {ﬁ?gaﬁ/ LG+Stroke | ez
e h+i ] E _ T+Stroke RR | SgB ——
| LT+ [ +Stroke LT +Stroke |
(unit:mm) AM2
Boresize|  Stroke range il A [mselosclca |cB [ $0 | sE| F oA lcB J KLl v N e e lwalwe AM
(mim) | WithoutRod Boot | With Rod Boot |  oftead
$40 | ~500 [20~500| 27 | 30|60 |44 |18 |18 16|32 |10 |15 |15 |M8x125| 6 |30 [M14x15|27 [1/4]84 | 5 105 AL
$50 | ~600 [20~600| 32 | 35|70 |62 |21 |21 20|40 |10|17 |17 |M8x125| 7 |35 |m18x15|30 [3/8]90 | 8 |9.9 ALX
$63 | ~600 [20~600| 32 | 35|85 |64 |21 |21 20|40 | 10|17 [17 [M10x1.25| 7 |40 [M18x15|31 [3/8/98 | 9 115 —AB
$80 | ~750 [20~750| 37 | 40(102|78 |26 |26 |25 |52 | 14 |21 | 21 |[M12x178 11 | 48 |M22x15 | 37 [1/2|116{ 11 | 13 ADQ
$100| ~750 [20~750| 37 |40[116[92 |28 |28 30 |52 | 14|21 | 21 [M12x1.75] 11 | 58 [M26x15 | 40 [1/2]126] 13 | 14 (AQ2
AB2
Bore size = | @ ox o7 Without Rod Boot With Rod Boot —
(mm) a HIT T sel e [n] ¢ [T ﬁjM
$40 |10 [16 | 10 %5 | 150107 [205| 51 |165/175| 43 |11.2| 59 173183 —
$50 (12 19| 12 *%97° | 180133 |38|58|183|195| 52 |11.2| 66 v 191203 ABK
463 (16 (23| 16 9% | 250133 |49 |58(196/212| 52 |11.2| 66 Srok 204[220 —
48020 |28 | 20 9% | 315123 |61 |71 |235/255| 65 12580 | © O |244/264 ACK1
410025 |36 | 25 9% | 355107 |64 | 72256281 65 |14.0| 81 265290 —
NSK
Center Trunnion Type/(T) AG
Non-lube Type(AMTN), —
Air-hydro type(AMTH) Width_ T+1/2 NGQ
T+ 1 +1/2 Stroka 2SS flats —
[ ) AGX
| GX
With Single Rod Boot fi] { 12
1 R NP
| lEffet;:\v? | .
It S
! 3 It ent%re:d I
| Lt LA ADR
LT+ +Stroke _ | __LT+Stroke _ (unit:mm) —
Boesie| Stokerange |[Fled ) |-opirsc| ca|cB | #D|$E|F [GA|GB| J | K| MM | N|P |LG|WA/WB AMR
(mim) |Without Rod Boof With Rod Boot | ftread —
$40 | ~500 [20~500| 27 |30 | 60|44 | 18| 18| 16|32 |10 | 15| 15 | M8x125 M14x15 | 27 [1/4| 84 | 5 [10.5 NDM
$50 | ~600 |20~600| 32 | 35| 70|52 (21|21 | 20|40 |10 |17 |17 | M8x125 M18x1.5 [ 30 [3/8] 90 | 8 [9.9 —
$63 | ~600 |20~600| 32 | 35|85 64 |21]21] 20|40 |10 17|17 [M10x1.25 M18x15 | 31 (3/8| 98| 9 [11.5 ARD
$80 | ~750 |20~750| 37 |40 [102| 78| 26 | 26 | 25 |52 | 14 | 21 | 21 [M12x1.76] 11 |M22x15 | 37 [1/2[116] 11 | 13 ——
$100| ~750 |20~750| 37 |40 |116) 92 | 28|28 |30 |52 | 14 | 21 | 21 [M12x1.75| 11 |M26x15 | 40 [1/2|126] 13 | 14 NST
' fhout Rod Boot With Rod Boot ——
Bore size 4TDes | TF |TK |TL [TV Without Rod Boo ith Rod Boo AST
(mm) H|T|[LT|de| f | h l T |LT
$40 | 156 0932 122 185 |62 117|651 |93 |140| 43 [11.2| 59 101148 B
$50 | 15 0% |22 |95 |74 127|58 [103|154| 52 |11.2| 66 va 111]162 ASTH
$63 | 18 0% |28 11090 148|568 107|162 52 |11.2| 66 115170
=0.040 Stroke NLCD
$80 | 25 0935 134 140|110[192| 71 129(194| 65 [12.5| 80 138/203
4100 25 9099 |40 162(1301214|72 135|206/ 65 (14.0| 81 144|215
NLCS
193

www. TPCpage.com
www. TPCpage.co.kr




Series AM

Rod End Nut(Standard Accessaries) Knuckle Joint Pin/Clevis Pin
d cn &g ci
m i
N i Il
7/ B m| I S
n L
Material : Rolled steel Material = Carbon steel
. i Applicable
Applicable PartNo |—= | a9 | L | ¢ | m | #d | seltpn
FRmNEy d AL P CLEVIS [KNUCXLE $x 1
TNT-04| #40 |Midx15| 8 | 22 | 254 | 21 TCDP2 | $40 | — |10757/45.2|37.2| 4 | $3 |$3x18I
TNT-05 | $50- 63| M18x15 11 27 1312 | 26 TCDP-3 | $50 |$408| 1270093/54.3|46.3| 4 | $3 [43x18!
TNT-08| #80 |M22x15| 13 | 32 | 37.0 | 31 TCDP-4 | 463 | — | 167550 70 | 60 | 5 | ¢4 |¢4x241
TNT-10| #100 | M26x15| 16 | 41 | 47.3 | 39 TCDP-5 | — 480 | 187075 76 | 66 | b | $4 |44x25l
TCDP-6 | 80 |$100| 2073955 82 | 72 | 5 | 44 |$4%361
TCDP-7 [$100| — |2509%587.5|77.5| 5 | $4 |$4x36!
| Type Single Knuckle Joint (mm) Y Type Double Knuckle Joint (mm)
&
ol e
N N
{45_(_\& MM $NDHio
& N\ |
A1l W1 & T =N
11~ ] [Z\$NDm =
A I‘i W
L L1 ]
Material : Free cutting sulfur steel Cast iron
Applicable Applicable
Part No. boe |2 [ATETLTI MM RTWE ghD | NX Part No. e |ATIFENILT MM R w1 $NDo | NX [NZ
ore
TI-04| ¢40 |69 22|24|55| M4x15|155/20|123°7°1 163} TY04A | $40 2224|565 | Miuxi5 | 13|25 (12159116 133|38
TI-05 | $50- 463 74 |27 | 28|60 | M18x15 165/ 20| 125971 16 32 TY-05A | $50- #63|27 | 28 |60 | M18x15 | 1527 |1215°7°|16 133|138
TI-08 | $80 |91|37(36|71|M2x15(22526|18799% 2891 T08A | #80 |37 /36|71 |M2x15 | 19|28 1875|128 +02|55
TI-10 | #100 (10537 40|83 | M26x15|245| 28|20 5% 3052 TY-10A | #100 |37 |40|83 | M®6x15 | 21|38 |2019%%|30 3%|61
Trunnion Bracket
T+1/2 70 TT'\\I/ 0 # The order makes special for trunnion
B type bracket.
o : ¥
g £
10 il A |
TY I
TG — (mm)
Applicable
Part No. | TZ [TM | TU | TG | TV | TN | TO |¢TR|$TK| TS | TH | TF | TY |W1 | T | $TD-H10
ore
ToA1-S04$40 | 80 |60 | 10 102 |85 | 119 | 17 | 9 | 17 |12 | 45 | 60 | 62 | 10 | 93 | 15 %"
¢50 | 80 | 60 | 10 |112| 95 [129 | 17 | 9 | 17 |12 | 456 | 60 | 74 | 10 | 103 | 15 *0o®
TCA1-S06 ¢63 | 100 | 70 | 15 | 130 | 110|160 | 20 | 11 | 22 | 14 | 55 | 73 | 90 | 10 | 107 | 18 *o®
TCA1-sog 80 | 12090 | 15 [166 | 140|192 | 26 |13.5| 24 | 17 | 76 | 100|110 | 12 | 129 | 25 ¢
" 4100 | 120 | 90 | 15 |188 | 162|214 | 26 [135| 24 | 17 | 75 [ 100|130 | 12 | 135 | 25 o

194




